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A Ttovisit 2toask 3tosee 4toreceive
B 11, to travel in the wintertime
2 It, to talk loudly on the train
3 It, to run on the escalator
C 7Twhattowear 2wheretogo 3how touse
D 1todo 2totalkabout 3to write on
4 to take care of
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A Ther 2me 3Rachel 4students

2for 3of 4of

B 1of

C 1tobe put

D 1gaveup

A 1tosee

C 1tomove

2 to write

3 to be understood 4 to complete

2 to have talked

3tobe 4was
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2 to buy
6 doing

3 meeting 4 to stay

5 sharing

1 studying
4 to learn / learning

2toget 3tobuy
5 to swim / swimming

6 complaining

2 putting 3 to check

4tobuy 5toinform
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A 1use
5 play

2leave 3totake 4 to exercise

6 pick

B 11am too tired to do my homework.
| am so tired that | can’t do my homework.

2 He was too shy to talk to me.
He was so shy that he couldn’t talk to me.

3 The kids are too excited to sleep.
The kids are so excited that they can’t
sleep.

4 She is too busy to meet you for lunch.
She is so busy that she can’t meet you for
lunch.

C 1was abouttoleave 2 old enough to go

3 To make matters worse 4 To be honest
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Review Test p.20~p.23
01® 02® 03® 043 05@®
06® 07® 08® 09@ 100
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21 She is too young to drive a car.
She is so young that she can’t drive a car.

22 how to use
23 | went to the beach to do windsurfing.
24 1 went to the gym to do some weight training.

25 not to go
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A 1exciting 2stolen 3 disappointing

H4d

4 embarrassed

1 exhausted, exhausting

2 disappointing, disappointed
3 frightening, frightened

4 pleased, pleasing

1 depressed 3 broken

4 irritated

2 glittering
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A 1 Studying hard, you’ll pass the exam.

2 Being sick, she went to school.

3 Wanting to buy a computer, he got a
part-time job.

4 Waiting for my sister, | read a newspaper.

1l,heard 21,go 3reading 4 he, took

1 going/we went
3 Coming down

2 Not telling
4 Taking
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p-31

1 Having eaten 2 (Being) Invited

3 Having finished 4 being

1 Not knowing 2 Going 3 Having eaten

4 Interested

1Being 2 (Being) Accepted

4 Having watched

3 Attending

1 Speaking of
3 Judging from

2 Generally speaking
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Review Test p.32~p.35

01®
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02®
07®

03®
08®
(O 123 13@ 14®
16@ 17® 180 19@

21 (1) Even though she is young
(2) When he arrived at home

04®
09®

05@
100
15®
203

22 (1) sleeping peacefully (2) told by my grandfather
23 heard, shouting/shout

24 Not wanting

25 Generally speaking
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Beethoven’s Moonlight Sonata7} Z ¢lo| ==&
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ASAE ARZEE AO|I2E FARE BARE 32| 2P| =lofof
slch a used cares ‘BAN k= 2fojolc.

Because(As S) | had a lot of things to do, | didn’t play
basketball. & BAFFESE HHE ZE0|22 HIZoll= Having
0| 2to} it &t 2o| ot S5 siX| iUt 2= 2fojo|ct,
Because(As S) he was injured in an accident, Nigel
went to the hospital.& ZAFFESZ BRE ZX0|22 &IZ}
oll= Being injured-} Beingo| A42k=l InjuredZ} 2ok St
‘Nigel2 Al1Z $ALS EhaliA elol| it '2k= 2lojolch
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Because(As S) it was written quickly, the memo was
hard to read & EAFFESE v 20|22 gi7loll= Being
writteno|-} Belng A2EEl Writteno| 2ot sttt 1 X |= Fst
Al 220441 2477} ofHct. 2k= 2lojo|ct,
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° Joan2 IpHol| B2 LIZHE ofdlsiM £ ololeloE B2 A
olct. Because(As &) she traveled to many countries,
Joan has a lot of stories to write about.2 EAFFES2 H|
& 20|22 Having traveled” | M&5ict
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ojofsh= SXHEA} challengingo| &3]
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leaves= ‘Hi0l2k= S0lch @ L gEElE =l o2z
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kst 4= It B =5 2AFEZ0lM Being 2 Aiefst 4= RUch
While driving2 HEAD } A2z[X| b2 ZATEC R HEAL 5
of| L2 driving2 S&iEALICE (D waiting room2 ‘TH7 40|
2= clo|Z waiting2 roome| 85 LEIF= SHAlo|ch
@ mind2| E&o7} =l= sharing2 SHAlO|CH @ Although
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living2 SIXiEAlOICE @ BRE YollM Lsk= Hol2k= 2oje|
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HE BAFLECR US| i AE =2 EXoIch As my
teacher was satisfied with my answer,0llA{ &AL} Z:04
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@ Because | was surrounded by a crowd, | was
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a crowd, | was embarrassed.” | =|0{of 5111, Being2 A42fo|
75322 SurroundingO| Of-l Surrounded? | =(o{of Sttt
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@ As she finished her homework, Anna was allowed to
watch TV.E 2ARLE2E HHH Finishing her homework,
Anna was allowed to watch TV.7} E0{o} 322 Finished
7} of—2t FinishingO| =lofof Sict.

Q Al Zopt AIES =2 she felo|=2 surprised?| of
L2} surprising0| =l0{of Sict,

(1) ‘TOH4= ofRXI2t, HoiE o ZRCL'2h= 2ojo|22 FEAL
Even thoughZ AlZfsk= Ho| 2lof sict ZXH9| Fol= T4
of Fofet 21, EAFE20| 'Being ~,0|22 AN SXiAMZ
Zet

(2) ‘Michael2 ol =&iM AFEDE HM Us s LAt
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(2) ‘2| golHx|7} siE olobr|BH= SE22 told by my
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BARS| 2™ A 2ol notg E2Ict As she didn’t want
to hurt his feelings, Diana didn’t tell the truth.Z& 2AF-2
S HHH Not wanting to hurt his feelings, Diana didn’t
tell the truth.7} EIc.
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A 1® 21| found my camera broken

B 1 Entering the final 2®
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A

Anna: K4, Brian. SO {32 0{%40]?
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CHAPTER 3

p.39

A 1 has, left
4 have, learned

2 have, lived 3 has, been

B 1 have, been, studying
3 has, been, taking 4 has, been, working

2 has, been, living

C 1Have, seen, saw 2 went, have, skied

3 have, finished, started 4 have, called, called

D 1didyouget 2haven't visited

3 has gone 4 learned



5H4d

A 1 has waited

B 1 had gone, took

C 1 had been sleeping

D 1 Have, cleaned
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2 had stayed

3 had already done 4 had imagined

2 had lived, moved

3 had, finished, began 4 had chatted, met

2 had been studying

3 had been driving 4 had been playing

2 had, known

3 has bought 4 had flown
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Review Test p42-p45
01® 02@® 03® 043 05®
06®@ 07® 08® 09®@ 10@®
1M® 12@ 130 143 15@
16 @ 17@ 18®@ 19@ 20D
21 has written[has been writing]
22 has never visited
23 had arrived
24 have just left
25 has already gone
shiad
01 ‘oz & mife{eh= oo|z & Alol2hs MESE 29| AlFo|
oo 2 o140l wasz F MESICH
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Level Up! p4b

A 1 Have you ever been to Australia before?
2®

B 1®
2 M has lived[has been living] @ went
® had visited
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A

Scott: 2K, Carla. HE 0{7|AM 2 AH21= offAbsEX| 2501,

Carla: Scott, & Scttof] 7|2 £ 2ol o= F&
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CHAPTER 4

p.49

A 1wasinvited 2 is being made

3 was written 4 has been broken

B 1weretold 2wasseen

4 are being educated

3 was designed

C 1lisusually made 2 was built

3 was introduced 4 has been working

D 1wasbuilt 2bereturned 3is consumed
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1 Jasper7} LIS ZEAof ZChgict
2 Alice2| ojHLi= Alice2| ASIEIS 2HE1 AACE
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p.51

1 was taught

2 was shown, was shown to
3 was given, was given to

4 were bought for

B 1is called Uncle Bob

A

2 was made to return
3 was kept waiting
4 were watched eating

1 was given

2 were told

3 was seen

4 were made

5 was observed

6 are always made

1 Carolyno| LollA| £=5k= e 7124 FUct
2 TommyZt Lol[A| A7 |2] H|LEAE 2oiFdct
3 2| 7150| Lol dAdES FUct
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1 2= 22 Uncle Bobol2l1 £2C}
2 b Ljoi7| DVDE stz 2 AlZict,
3 Steveno| LIZ 8t Al St i 7|ck2 || Bk

4 A= AKGO| B2 EE AS XHEUCL




O]

A 1 with

A

o Ol N W N -

A ON - A ODN - N ON -

N ON -

TS0l ERAl B el 7215
s MlHol kg & g St
2| Ad=Ho| Xi4et Bl Zof k= Zig Eict.

2| et Lt 22| We FasiA =it

£ AUct

Alp7| 2LREFLROIM BE R 20| BFEHEQICE

Lk 7k Zolste SAI2 22| ofoii} B4 piS

2with  3with 4at

1 was brought up

2 be laughed at

3 was carried out

4 will be taken care of

1 known for

2 married to

3 looked after by
4 satisfied with

1 was disappointed
2 were pleased

3 are taken care of
4 were surprised
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Review Test p.54~p.57
01® 02® 030 04@® 05@
6@ 07® 08O 09® 10Q
Mm® 12%) 13@ 14® 15@
6@ 170 18O 19O 200

21 was filled with

22 was given some advice on my study by my
teacher, was given to me by my teacher

23 as
24 for
25to

siidd

be made of= 22|% B1s}, be made from2 sfsHx] His}E 9|
o[slE22 gZtoll= of 7} 2lof sttt ‘~o= ohertak= oot
TAIASAH-ESR0{+SAIRIE S $TSElZ HRH SALIS Qo
toE Mo} Blct.

Somebody made my brother fix the window.

— My brother was made to fix the window.

‘Sarah7} 7id4lof| ZCH=IQict 2k oz sixiiz4=-Z0| o]
of gict SXltZ =52 have been p.p.olch

‘~o= g4|c}l'= be crowded with7} X&s|CH

e Alexander FlemingO| H-|[Al2lZ wzist Zo|22 SS&el
discovered” | EsC|,

® The Book Fair7} 7iz|=l= 20|22 -5%2l is held7t ZE
slich
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o ‘AIXFE0| Ho|E E11 M= WS (RE0]) Eich2l= &£
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fightingo| Z&sict.
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ol will be completed7} =lojof sict.
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‘~of| Zlo| 2IcF= be interested inOIEt.
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some advice on my studyE Z{Z} 0|2 st= T=-SE 282
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EH 222 o= 22, me 2ol Mx|AHoE M FC).
S 22{X Act = be known aso|ch

~oz {5t = be known forolch,

~&h= 2oz U2X UctE Tbe known to+SAFS 0|t
Level Up! p58

A1®

2 The fighters of national independence
should be looked up to (by us).

B 1® 2aren't destroyed
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CHAPTER 5

p.61

lisusedto 2usedto 3usedto 4usedto

1 eating 2 cook 4 build

3 playing

1 walking 2 enjoy 3 measure 4go

O O O »

1 cannot, help, laughing, at, cannot, but,
laugh, at 2 may, well, think 3 may, as,
well, tell
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3 U= 80l XIF Yske Hol ol aS50] =0 Yo
7ok,
p.63
A 1should 2might 3must 4cannot
B 1 mustn’t have cleaned

2 may have gone
3 should have taken
4 cannot have sent

C 1 should have picked up

L

A

2 mustn’t have returned
3 shouldn’t have put
4 must have lost

1 must have rained

2 may have called

3 cannot have solved
4 shouldn’t have drunk

1 J= 7IXE S5 J= o 24 2ofktofof Jich
2 0= QL stwof| @X| 9ict 1= ojof OFRSX|E B
3 4= 2SS ok o LAls| oES g0l SRial

FQ6IChe AE 21 Uk I MF

4 =1 MBI
= 27} sich

7= B3

03

04

05

1
2
3 L= RIotEE &
4

1 Cindy= John& hol| Ztofok RU=E, 7HX| LRpc
2 Tim2 7ol Sotex| gixtgol S2iict Lie 28 a5
EX| =23t

3 Zulmjolof JA e MEs EX
B ==

H2|2] Sk
o
Lz

| 244010k Rct ==fmlof7t

4 aP e g7(ofM ojp| 2E 4=5t=0| LaiRict a50| 2
2| 712 gdojziS0| SZislct

1 =27} 30] ok uPhLiZig0| S2gict.
2 UZHARIS 31T IS o, 47} L TekE YeXIE Rt
3 b1 Y8 EX SIERS 2P} Bick. OHE 4k2 o] ojuct.
4 L= ATIS 0IAIR| igfolok sic Lk X3 Fe B 4t e

. 6~p.67

Review Test p-oA=P

01® 020 03® 0® 050

06® 07® 08® 09O 10@

"Ne® 120 13® 14® 150

6@ 170 18@ 19®@ 200

21 cannot have seen
22 shouldn’t have eaten
23 used to go

24 (1) must be
(3) cannot have been

)
25 (1) shouldn’t have gone
(2) must have exercised

(2) must have been
(4) may have been

‘James7| Aol AUS 27} gick 2= 2jojo]=22 cannot

have beeno| H&s|ct,
‘Cathy3SX|= 22} '2K= o|ojo|=& may have beeno| ZH
1=

‘L= 30I1ZE o Mook S=Hl (ARX] 28UCh. 2h= elojol=22
should have bought7 | H&s|ct.

‘%ol AT} tSol E2leich’2ks 2olo]=2 must have
beeno| H&s|C}.

Eden 1 442 £X RS0 S8IC

must not have heard” | &5t

t'2l= olojol=22
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07
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22

14

U} | WotME WiziE E7'eks S7IE Toke QiR R0l22
May7 | HEs|C},

o st 2lo] glof. &S Xl2| 7k= Ho| £20].2k= 2|ojo|=22 may
as wello| HE3|C},

o TH7F XN ARRIE WRISK|= &2} Jd= ARERlof| 2halo] 4A
£.0|2k= 2Jojo|22 may have takenO| X&ES|C}.

@ ‘2| Holxls Mok aA| 7445k ol '2ls 2olz 1}
7ol AlEHE LIEWH=Z is used to beZ} Ol2} used to be7t
=|ojo} Bt

@ ‘2 TAof| ARICHE used to live, ‘2 TAlol| A= o 255}
Clis used to livingOltt. is used to live= A= O AFSEICH
= olojo|22 MESHK| it

‘TE2 Aol Hoixigo| ERigict 2k 2/n]o|=22 must have
failed” | &s|ct,

‘Oe SIS 7IM2X| k0| E2Igich 2k 2|nlo|=22 must
not have brought” | M&sic|,

‘Tl4= Hof| opHX|el ZHO{S 712 X2t XF2 e 7K
F=Cl'2h= 2lojo|=& used to go hikingo| XZ&5|c)

‘0|=0] 2003H0l| 02132 E2BIX| eiRtofo} fe=m2k= 2lojo|
22 should not have invaded” | H&3|c}.

‘Christineo| &ZIglofof g=H[2k= 2/n|o]=2 should have
gotteno| MAEs|ct,
‘Ut A4l 3Eojol ed2hs 2[nlo|=2 should have
studied” | H&Esict,
GA: & HAIE L =X} o} HAF0, L= XIFOo].

B: oi3Mof|A| ot E2tn FESHK| T30 SMo| TS

T U=l

247 Allo] Chist £Z0(|=22 T=SAH+have+p.p..2 SEP | =|
ofo} gt} might helpZ| ol2}t might have helpedZ} =|ofok
=
@A: Lk= Danielo| Af XI5 2F5H= Z o],

B: XI= M=Z A Zo| ERIGl0]. Al A= A2 A= Zof| Chsl

OloP|E FAHE.

A2 Mz & ZHo| E&glo] 2l 2ojo|22 should have
bought7} ol-2} must have bought7} =lofof Sic}.
O dpt M2 2X| RN FUARCLEE £z WPl ME
S 2RRtofo} FeHElE 2Xoz FMEHE = S22 shouldn’t
have received” | O[-2} should have received”} =|o{of Shtt
@ TolM 2552 32 = gic 2 U Janeo| 2552 sl
o =1 2 Zlo| EZIQIct Bk oz 2E=Eg studlsu 2 A
2 Tj7{e| Yo|=Z must leave?| Ol-2} must have left7}| =
oo} sict
‘H H Mof| o] =50lli= 227} ol UUCt 2R o2 nie| A
EE LIEllE Z=EAP| Q35122 are used to7}| Ol-2} used
to7} =lofof Sict.
® BwHofof =] BLA| 2RICk= Ti2e| Lol Chst 22|15 o|o|
322 must have finished”} Ol-|2} should have finished
7} =lofof Sict
‘~§12 2|7} gick= cannot have p.p.0|E2E2 ‘#2 2|7t gict
= cannot have seen0| =IC}.
‘~5}X| 2i40fot FCk= shouldn’t have p.p.0|=2 ‘HX| 2%t
0{o} Fct= shouldn’t have eatenO|ct.

23

24

25

‘~5h2 RICtH = Tused to+SARIE 0|22 712 ACH= used
to goolctk.

(1) ‘~lo| E2lgicH = "Tmust+SAIS 0|22 T= st A
0| E&lgict'= He must be angry.olct. (2) ‘~&20| E2I81
Cl= 'must+have+p.p. 0|22 ‘17| 7| WetS0| E2I8ict
= He must have been angry.o|ct (3) ‘~3g 2|7} gict=
Tcannot+have+p.p.,0|22 ‘It 3P| Wi 27t gict'=
He cannot have been angry.olE}. (4) ‘~RSX|T 2Ect =
'may/might+have+p.p.,0l122 T= 5P} HRISXE 22
c}= He may have been angry.olct.

(1) Victore o of=cl = ofF| slofl LZIX| eRtofok 3
ch'2k= 2lo|7t =lofok st=2 should have goneO| Of-|2}
shouldn’t have goneo| =lofo} sttt (2) Jennifer= 28
S sl 30| E2RIct = Hel W mk2=o| wisct 2t
= 2[o|7} =lojof St=Z must exerciseZ} OlLZ} must have
exercised”| E|o{of SiC}

Level Up!

A1® 20

B 1@ 2 |should have done my best

shay/a

A

Kevin: Ofttst, Opith= OIS 1 F SIS St SURL?

Mr. Smith: 24, ZollA Lt HAIE 5H2 FUX|.

Kevin: 2|7 H2Hol=e?

Mr. Smith: Zoi22 ZollAM AA0IES & 2= QUA.

Kevin: L7t 23 2AL. TAIRE oHEAL sMEE
stz ote? F, 2UHs| AFH AU siX|
AoNS Hol.

Mr. Smith: ZFFE] 7[00} |7} LA ZoIH| ofAlikto]] L HiAY

ZFE Al SlEHAM 0] s W ZETLE =

st ot Elich Kevin.

At oftf, O[HZE BEFMIL,

ol

Kevin:

1 (a) ‘~3t= gick2k= olo|7t =lojof 3t22 Tused to+
SAHRIE 0] S07tot sh=dl|, ol EElE =SAL did7t
Qlol| Lizte2 2 use to do7| Elofol Bic.

(b) ‘~sk2 ckeks olo|7} =lofok st22 used to goZt
ESESE) iy

2 @ OoMHX|7} ofzlg ul ATFE] AlIES stx| ot Zo| E8
glesz iy dofl chst 2 must not playZt of-zt
must not have played”} =/0{o} Sict.



o

HAd

Ann'=lA|,

Mz 71 Fst ZFE =30 AE GokA Ao
| Adztofl Me| k& El ailey7t XMollA| &7}
ZotR, = Rtk o sn Z2HEE FH oS,
Z2™MEJ} Bt 0|FZ Hailey= XNollA| 22 sIX| gtote.
27t Z2HEES & nff J7F HE AL EOAM M) dkE
< 79| BE AE Ct ol L= a7 HECE w7| whizol| L
T2 80| & & US HE R0, O MzZto| 2| ARE
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1 @ ‘= JHolA| 22| Bol 2IX[SHX| eitofot it 2=
£20| E|ofo} 5122 should have depended} o2}
shouldn’t have depended7| =|ofot Bt}

2 '~gofo} YCt= should have p.p.0|22, ‘L= 2MS Cf
glofok ct= | should have done my bestolct,

CHAPTER 6

p.71

1 more favored, less favored
2 earlier, less early
3 more expensive, less expensive

1 happier 2 mine

3 much, far,alot 522 &3 4to

1 prefer, to 2 lower, and, lower

3 less, complicated 4 The, more, the, more

-

Mot AZF76 EE ULt Mot B7F 82 S AUC.
— Xet B7} Mot ARCE 217 |7} ACk.
— M2t A7t Mot BECH 177} gict.

2 Marke gt 9Aofl ZX[2|ol| E21ct Jacob2 & 11 Aol =&t
2lof E4ct.

— Mark7| Jacob =} & EX|z|ofl EAct.
— Jacob0| Mark 2t =A| FXl2|of| E21ct
3 LAY HEY 3= & 2ofolct wE3 v]sly | E= 28 2y
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L o] LH ofSede

S o

YEot 2N o ZEsict

Lb= Of A2 Ayt X ZA At 2ol &2 24 2ok

L= A=t 0152 Sokeict
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p.73

1 as many movies as
2 as popular as
3 as dangerous as

1 don’t, as, much, as
2 isn’t, as, messy, as
3isn’t, as, good, as

1 faster than
2 farther than
3 more interesting than

1 as loud as possible, as loud as he could
2 four times as big as, four times bigger than

HlE sipM 2XE st AR =2 ol Fof| 2Hsk= Aot
= lgsich

Rachel2 CHf Lt=Ct 0| SH=Ct

— L= o7l Rachel2HE B0 | HX| gh=C}.

Fo| HAECHH X[MEsich

— 7{Ale S2AE XM EsHX| it
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p.75

A 1 the most important
2 the largest
3 the funniest
4 the worst

B 1 more crowded than any other city, No
other city, more crowded than, No other
city, as crowded as

2 brighter than any other star, No other star,
brighter than, No other star, as bright as

3 faster than any other runner, No other
runner, faster than, No other runner, as fast
as

C 1 more —most
2 house — houses
3 most — more

4 chairs — chair

-

2| 7150| LY 4f0lM 71 S3i.
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3 Michaelo| X7 | Li2lofiM 7 ke w2 =2]7] A==0]ct.
— Michael2 XP7| LI2to| C}2 oftH Ea|7| MErt wh=ct,
— 12| L2te| Michael 2r} O 2| B2 l= M= 8ict

— 19| LiZ{olM MichaelZhg 2| e l= M= gict
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Review Test p.76~p.79
01® 02® 03® 04(® 05@
6@ 070 08® 09® 100@

21 The blue whale is bigger than any other animal
in the sea.

22 The cheetah is faster than any other creature
on land.

23 as bright as
24 The more, the healthier

25 ten times larger than[as large as]

st

01

02

03

04

05

06

07

08
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‘Hof ARMo| LY 2iFolM J1E 42 Moot 2k 2oz HiZio]|
= the thickest booko| &&5|C|.
‘Fa|AnAE MARIM 7FE 27| Qe 7Y & sl 2k o
2 dI7loll= the most popular holidays7} X&sict Tone of
the +ZAZ+E5THALIF 7R ~3t - & Shtek= SEolch
‘L= X[ZEct o Me Mg 2ot 2k 2ojolx, ol thano|
ooz HiZlojl= fewer” | HESICE
Tommy= Emmatd 7[ElS & x|X| R3UCt 2= S£oz wizt
o= wello| So{7tof Sict ‘~BHS ---51A| gictE 'not ~ as+
HF+as,0lct good2 ‘E2'0l2k= 20|22 Ho| E £ gich
Tas+82AL/2AL /2 +as possible,2 7H58t 8t ~s1A2k=
Loz fas+SHSAY/EAL fg+as+F0{+can, 0% HPY & =
RAct ©f can AlXlof] 25| Mok sict
e Janeto| L ZIT F 71& Ro|Rks AlRo[ct 2k 2oje| A
2X0| =jofof st2E HIZI0fl most humorous? | 5017 fof Bict.
° ‘Janet2 Will2ct xHo|ict 2k= ojole| H|mZ 20| =lofo}
522 2iZ1ol more humorous? 017 o sict,
° Janet2 Bill2kE &o|Qict 2k= 212 H|w 28o| Elojol st=2
2 HI71of| humorous?} S017}o} Bich.
o ‘22| Z2A2 sz Cl2 ofH ZelEr} 3et 2k S2ol1, ]
g +than any other+ErEALS| SE} =lofof st22 wIZt
ol park7} Z&sict,
e Jingle Bells= 7I& 27| Q= 7HE & sflolct '2k= S20(1,
Tone of the+alAE+=ALC| e =lofof stE2 2iZio]|
carols7t A&s|ct.
e ‘Claire Wt XIZ77IX| 2ite AR SollM 7Fh Zichst AlZdo|
C}'2h= EEoZ Mthe+Z|AE+HAN+that)+30{+have ever
p.p..2l &Eet =lofot 6t11, Clair7} & Ho| AlZto|2 &2 wiZlof|
person0O| S0{7}o} Slct.
Tas+2ig+as 0|22 g7kl bad2| H|WZ2! worse= 012
= gich
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BluEES TAE = 8= FARS veryOlEt
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@ Bill2 JoeHct o 71 ARKS Yslol et 2l 222 Fof|
thano| LIS 22 longo| o2} longer7} =[ofof Sict.
@ ' A= 2 eiule] FHEct 3X| gict '2h= S£2= bigger
7} of2} bigo| =lofo} siot. ‘~Er} Hslch= Mess+21F0]
C} @ Hifhs AZEECT wa| ARt 2k= 5222 quicklyZ} of
L2t more quicklyZ} =lofot st} ‘~Hrt o --sichs Hing
+than olch Q) ofE AIZES ofitsE= ol ZolX|E
o MEsic) 2ls 292 thano| oj-|2} to7| Elofo} Siot. AR}
BE O MZ3lck = "prefer B to A0lch ® Fred2| Wl ol2
o| Cf2 oft wiEEC) o SiRICt 2l 5502 bakeries? | ofu2}
bakery7} Zlofo} Eict. Tl ~Hr} O --sick= H|wZ+than
any other +Et==aA} 0|CH
O ‘o| e} XIZ7x| 2otz 2l oM 7k &2 elict 2}
= 5222 sadder?} o2} the saddest7} =lofo} St X277}
A| ~5t BollA] 7 ~3ict = H|mE(+that) +Z0{+have ever
p.p..0IEk @ ‘2| 715e| YO O EQFH A2 gich 2= £
S& important7} of-2} more importantZ} =lojof s} ‘~E
Ch o ~8t A2 gict= "0 +H | +than 0lch @) ‘¢e Ly
7} oA HECH & SEidict Bls SEo2 littleo| Ol-2} less
7} Elofot Bl ‘~ECh & ~3ict= Ness+@F+than,olch @
‘f2| T2 o] oj2ofM 7k 2lZ0]| X2 & F siloch2ks 2
£ newer?} Ol2} newest2| =lofof s} TR ~3t A £ St
LF= Tone of the +ZAFE+2404A}0|ct.
O EA ~siX|ct= H|2F and H|2F,2| FE| =ojot 522
small and smallo| of2} smaller and smaller7} =|ofo} 5t
cl. @ as®} as Alojoll= ¥F0| 2fok 5122 clearlier?} ofz}
clearlyZ} =lofo} Sict. @ v|me| Ak =Sst Ziolojof st2=
the three girls7| Of[2} the three girls” (hair)7} =lo{o} Sicl,
® ™|wg+than any other+EH=EAL0|=2 the most7} O}
L2} more7 | =|0fo} Eict.
Yot wa] Buid 2SS o 99 o = QlohBle ez
‘~&=8 -3 Mthe H|2E, the H|wE 0Ck
O 227t M™ FHXCh @ DavidZt Joshua2Ct 241 &S4o|
2ICt @ Al ZFEI= o™ ZFEADIE w2t © MAIA 71 2
Aol 044 = st Ho| ZFof| Aot
@ Folzl &2 0| cES AFE:= N ES AFREECIE
At '2k= 20|, MEHE 2R K tES AFEH= 0| tES
FERRE 22X| eicl 2k 20|22 22 2o oflc T tE
4ATFE] ) O] mES ZFFEL,
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Tone of the + A Z+ETAL 7} TR ~8 A T sjLf2k= &
0|22 one of the most famous scholars7 | ZZ&5ic},
AARR AMORE =X| picf Ble BRD 2K ke 2R @ M2
AAIERRRE =iColct,

‘o] 2Ho| o] YsjoiM 71E SE AHo|ct 2} ZX| g2 B2 Q)
‘o| ZHo| o] AsjolM 71 &&= & F silolet. ok

21~22 "™|WZ+than any other+ErdAL Cl2 ~HCl O ---5lc}

23
24
25

"as+#F+as, ~2F -3l
"the +8|1=, the +H|u=, ~5tH &5 O ---5ict

THiEARH T +Hthan, THieA+as + @5 +as, ~Hl --Sict

Level Up! p.80
A1
2 (a) faster than (b) more comfortable (c) to
3 The earlier, the less
B 1 one of the most popular film festivals 2 ®

sliad/al

A

Joe: QKA Chris. O Aof| T1stoi|

Chris: 2200k H=?

Joe: {7 Li= A JIRIE T MO,

Chris: 9} F&ch L= T Alo|Eo]| M&5te{n =
CIE AlRtS0| 25 LiECt w2 Zd 22}, 37} ofo ot
2. ool At2 2FsliM Z 7otk nE #|S0|
AlgtE| 7 |REECH #M =2 7K.

Joe: & SiXlzt Tz A v} g o Euka 4= UEoL
2|1 7[AHE Ebs AECH 4 BHE Hot L= TRk
AHE O Zofetx|gh X7} g1

Chris: stx[gt, o WE S0 Z2iM BRSIK| Rtz 7| A4
JeiM 2 = s U2 98 TS LiMe{d U 2
Lt 25 nE XS 2 & 7ot

Z7H?

1 QxS F=4g 4= gl= A2 veryolch,

2 (a) ‘25| LiEct w2 A 2ol '2k=s 2o|2 faster thano]
HHsich (b) VXS Els WECH @4 Helol'2ls 2lo|z
more comfortableo| MA5ict (¢c) 7IXIECH XHE
MFBiCtElE oo|2 to7t MAsict Tprefer A to B7t
‘BECIAZ A=3icholct

"the H|2d, the HlwE, ~51H &5 O ~& Zolct
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ZMELCE o] JsAls =gt 2t CHSSoIME @2 UFHIC
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Zke IS o] Aol ZH2 =2tAo| Cf2 of TAIEC o
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Bt E ALt ZIORE 9fA 0| FH| 227 |15 2T A2
A

&
M2 XE7HR = A SoM 7HE Melles HElE & 5 Ug
|

H

—_

Tone of the +EMF+EFTAL 71 ~5t - F 5L}
2 (@ "d|wF+than any other+ErEALT | THE ~HCtH -
SICHO|2 2 cities7 | OK-I2t city 7 =|ofof St



CHAPTER 7

p.83
A 1didn’t 2 calls
3 had 4 throw out
5 weren’t 6 had washed
B 1were 2 would answer
3 had known 4 had

aHAS

18

o~ O N WO N — o~ O N WO N —

g1 N WON =

5 wouldn’t have cut 6 wouldn’t be

1 were, would prepare

2 had snowed, could make

3 hadn’t been, could have attended
4 had saved, could buy

5 were, could prepare

7} Li2(X] bk, REPEETE S 5 US HEl
Lol Mt 2H, g HAT.

=0| ZZ5iCHH, Lol U & == 2Ug ol
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p.85

A 1 could

N

2 stayed
3 had made
4 hadn’t said

1 were

2 had won
3 turn

4 had paid

1 hadn’t lost

2 didn’t have to go
3 hadn’t heard

4 weren’t

1 were

2 knew

3 had been

4 had listened
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A 1 how he got there so fast

2 why | couldn’t call you last night
3 where | grew up
4 when | first went to elementary school

1 where
2 when

3 why

4 the way
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2 the way

3 the day

4 the reason

1 at which L= when
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4 why
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A 1 Whoever
2 Whenever
3 wherever
4 Whatever

B 1 Whatever you do
2 However hard it is
3 Whoever wants to join our club
4 whenever | want to get up

C 1 Whoever
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2 whatever
3 wherever
4 whenever

D 1 However hard it is
2 whatever you want
3 Whenever | have a problem
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21 (1) who(m)/that (2) where (3) which
22 (1) (who were) (2) (which) (3) (whom)

23 who/that had begged her for help on the
street

24 whose jewelry was stolen
25 (1) You can take whatever you want
(2) However hard you try

| saw the man.

+ He helped the homeless.

— | saw the man wholthat) helped the homeless.
AMeiAP}the man2Z ARZlo|11 20|22 HIZbolli= who, that
0| 7k=stct.

The meeting was boring.

+ | participated in that meeting yesterday.

— The meeting in which | participated yesterday was
boring.
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ooz diZlofl= which7} 2fof Sict

2002 is the year.

+ Korea and Japan co-hosted the World Cup in that year.
— 2002 is the year when Korea and Japan co-hosted
the World Cup.

AA | the year0|22 gIZI0f= TAIFAL whenO| 2o Bict.
The Petronas Twin Towers used to be the tallest
buildings in the world.

+ They are in Malaysia.

— The Petronas Twin Towers, which are in Malaysia,
used to be the tallest buildings in the world.

The Petronas Twin TowersE M3AIZ gtomiM HIEE
SF MO|i= BHAICHEAR= whicholct,

| thanked the woman.

+ | borrowed her cell phone.

— | thanked the woman whose cell phone | borrowed.
AATFthe womanO| 1l 2724 2fghe sh= TAIHEAD L 2R
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o} 22l T2 Meoje| Hxltoleic 2k S£olct. A
AR ZEtelHA FO01EE ol1= FHAR=E Whatolct,

Celina’s school is close to the apartment.

+ She lives in that apartment.

— Celina’s school is close to the apartment where she
lives.
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The fence is made of oak trees.

+ It is surrounding my aunt’s farm.

— The fence (which is) surrounding my aunt’s farm is
made of oak trees.
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(D The boy started to cry.

+ His bike broke down.
— The boy started to cry whose bike broke down.
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He showed me the way.

+ He solved the problem in that way.

— (2 He showed me the way he solved the problem.

— @ He showed me how he solved the problem.

the way2} how= &7 £ 5= 81222 the way<t howE 217t
AFALR ALZSH Z&0| HIE 2&0] Elck.

The hotel is in the center of the city.

+ You will stay at the hotel.

—@The hotel where you will stay is in the center of
the city.

— @ The hotel at which you will stay is in the center of
the city.

—The hotel which you will stay at is in the center of the
city.
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B 1ltis a secret that | failed the exam.
2 It is not true that Paul has no friends.

3 It is surprising that he got a perfect score
on the math exam.

C 1whether 2that 3whether 4that

D 1whether 2if 3that 4that
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1 where Tom is now

2 what Mary’s younger sister does
3 who broke the window

4 when you saw Sally

1 Please tell me what he said.

2 I'd like to know what you want to eat for
dinner.

3 | wonder where he went last Saturday.
4 | don’t know when she will come home.

1 whether/if Susan is a high school student
2 whether/if you did your homework
3 whether/if you have been to Paris
4 whether/if we are going out to eat dinner
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2 When
4 since

1 until
3 while

2 If
4 and

1 unless
3or

1 When &
3 until

2 before
4 if
3or
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3 even though

1 although, though &
2 because of

3 as, because &

4 In spite of/Despite

1 In spite of

2 because of
3 because

4 even though

1 because of
2 As/Because/Since &
3 in spite of/despite

2 AIO| A2 RAkS SR

= Aoz 2751 of&s| B
=

e

rE

ofztel A5 A

Sl A= WE AB0lT =75t MA ol 2t
7 50| Flas

M7 LA ST S AC,
Tl 2=0] oM O X2 2isiR| 47 |2 Z2ERct

7S ORI Lhs 12| 4 miefol] 7 EX| SRk

L 2% LOoftRIRt, stofl =Uct.
L= HAS SAA] S0l =Act
SHHT SHR| RIOMA AlRdol| HOCt.

25| HFolE = 7510 Aledol| ot

James= 3FE

James=3FRE &

L= &5 th2ol ol ZESe 4= idct
ML EE TR A A2EE S Ao
o] =2 X|Zlol|= =75t 3| LS X[ RUC

25



02

03

04

05

06

07

08

Review Test p.114~p.117
01® 02® 03® 0403 05@
6@ 07®@ 8@ 09O 10@
(6 123 13@ 14® 15@
16® 17@ 18@ 19@ 20®
21 since

22 (1) Before (2) If, don’t
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(2) You’ll be late for the meeting unless you
leave now.
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(2) does Santa put — Santa puts
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A 1 When you called me, | was sleeping.
(I was sleeping when you called me.)
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CHAPTER 10
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A 1Twould 2was 3goes 4had
B 1 she would study in the library that Sunday
2 | could watch TV after | finished my
homework
3 he had come to London the previous year

4 he hadn’t heard from Brian since the
previous month

C The

2 would
3 me
4 had
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A 1 if/whether she could borrow my pencil
2 if/whether | had seen his notebook
3 if/whether | wanted something to drink

4 if/whether | was coming to the
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B 1 where | was going
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4 what subject | liked the most
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21 It is Maria that[who] wants to do some charity
work for her neighborhood.

22 has John tried Greek food

23 the end of the rainbow is the pot of gold
24 1t, that

25 (that) he could help me lift that box
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